
1

Changing Station

Attaching the Changing Station to the DresserCustomer service telephone: 877-99-DWELL
Email: customerservice@dwellstudio.com

A
Screw 5/8"
Qty: 2

B
Brackets
Qty: 2

NB: You will need a screwdriver to 
assemble this product.

Step 1: Please place the changing station on the dresser top, making sure that it lays flat and that all sides 
are flush with the dresser.

Step 2: Back of dresser : Insert the two brackets (B) into the groove located underneath the dresser top 
(see Figure 1).

Step 3: Make sure that the two brackets (B) are firmly inserted into the groove. Affix the changing station to 
the dresser with the two 5/8'' screws (A) provided (see Figure 2). Tighten.

NB: This product is only recommended for use with the DwellStudio Century Dresser.

      WARNING:
* FALL HAZARD - To prevent death or serious injury, always keep child within arm's reach.

* You must secure the changing unit to the dresser top by using the provided brackets.

* This product is not intended to for use without a contoured changing pad and safety strap. Use of the product 
without a pad and strap may result in death or serious injury to your child from falling. The pad used should have 
maximum dimensions of 32.5 in. x 18.25 in. x 4 in.

* Read all instructions before assembly and use. Keep instructions for future use.

* Do not use changing unit if it is damaged or broken.

* The recommended weight of the occupant placed on this changing unit should not exceed 30 lbs (13.6 kg).

We recommend cleaning this unit with a damp cloth.

Figure 2

Figure 1

(A)
(B)



2

Changing Station
Fixation de la Station Passage à l'DresserCustomer service telephone: 877-99-DWELL

Email: customerservice@dwellstudio.com

Étape 1: Déposez la table à langer sur le dessus de votre chiffonnier 3 Tiroirs, assurez-vous qu'elle soit 
complètement à plat. 
 
Étape 2: Retournez le meuble et insérez aux extrémités les deux braquettes de métal (B) à l'intérieur de la 
rainure qui se trouve en dessous du dessus de meuble (voir Figure 1). 

Étape 3: Avant de visser, assurez-vous que les deux braquettes de métal soient bien en places dans la 
rainure. Vissez les deux vis 5/8'' (A) pour stabiliser la table à langer sur le chiffonnier (voir Figure 2). Serrez.

NB: Il est recommandé d'utiliser ce produit seulement avec le chiffonnier de DwellStudio.

      AVERTISSEMENT:
* DANGER DE CHUTE - Pour éviter le décès ou des blessures graves, toujours rester à proximité de l'enfant pour 
pouvoir le prendre.

* Vous devez assembler et fixer la table à langer sur le bureau en utilisant les braquettes fournies.

* Ce produit doit être utilisé seulement avec un matelas contour équipé de ceinture de sécurité. L'utilisation de 
ce produit sans matelas contour et sans ceinture, peut provoquer le décès ou des blessures graves s'il tombe. Le 
matelas utilisé doit avoir des dimensions maximales de 82.5 cm. x 46 cm x 10 cm.

* Lisez toutes les instructions avant l'assemblage et l'utilisation. Conservez les instructions.

* Ne pas utiliser la table à langer si elle est endommagée ou brisée.

* Le poid recommandé de l'occupant placé dans la table à langer ne doit pas excéder 30 lbs (13.6 kg).

Nous recommandons de laver cette unitée avec un linge humide.

Figure 2

Figure 1

(A)
(B)

A
Vis 5/8"
Qty: 2

B
Braquettes
Qty: 2

NB: Pour l'assemblage, vous allez 
avoir besoin d'un tournevis.


